136" Eigenvector

N, = 4 s=1 mgs =0

Irred. Representation : I's ;

E136 = é (—J 42U + 32W — 2cos (93) \/A_Q)
[Wi36) = [4,1,0,I51)
= (36,1 (|02du) + |02ud) + [0du2) + |0ud2) + |20du) + |20ud) + |2du0) + |2ud0)
—|d02u) — |d20u) + |du02) + |du20) — [u02d) — |u20d) + |ud02) + |ud20))
+  Cize,2 (|0d2u) + |0u2d) — [2d0u) — |2u0d) — |d0u2) + |d2u0) — |u0d2) + |u2d0))
+ Ci36,3 (|dudu) — Judud))
Crasy = _t(J+U = 2W + 2cos (03) VAs)
3v2
Cize—a = —2V2t2
24t2 + U% — 2J(U + 10W)
Cize-3 =
3v2
N <—A%2 +12W (=5J + 11U + 851\/[//_) —12(U + 10W) cos (63) \/A_2>
9v/2

Nigg = \/1601236,1 + 80362 + 20736 3



